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Ex If I travel from A to B at a speed
of 40km h for 2 hours and then travel

60km fro B to C at 20km h what

was my average speed
speed time distance

A to B 40km h 2 has 80K
B to C 20km h 3 hrs 60km

Total 5 hrs 140 kn



Aye speed Total Dist
Total Time

I 0 28km h

10cm of A with a density of 2 glenn is

mixed with a Vol of 20cal of B whichhas a

mass of 30g and 40cm of C which a density
of 8g1cm Find the density of the

resulting compound
density mass o l

A 2 glad 20g 10 en

B 30g 20cm

C 89kt 320g 40cal
Tot 370g 70cm
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Bounds
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